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1.2 
 
 
 

11 0 
13 0 
14 1

2 
17 1

6 
20 4 

 ااذذاا امأأ ةمیيق اھهل ههدك نناشع ٢۲،٬– دنع ةیياھهنلاا بلطط انھھھه ااوھهبتناا
ننوكتح ةباجلإاف ٢۲ دنع اھهبلطط  

DNE 
22 DNE 
23 ∞ 
30 3 
61 −2 
63 𝜋* 
74 √5 
75 2 

 
 
 

1.3 

1 1
2 

3 −
3
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4 −1 
5 0 
8 2

√3
 

11 DNE 
14 −∞ 
23 −∞ 
29 −2 

 Example 5  ةقیيرطط سفن
35 1 
37 1 
43 -1 

 
1.4 

1 At 𝑥 = −2	
  , 𝑔(𝑥) is continuous (since it    
is a left endpoint)) 
At 𝑥 = −1, 𝑔(𝑥) is discontinuous 



At 𝑥 = 0, 𝑔(𝑥) is left continuous 
At 𝑥 = 1, 𝑔(𝑥) is right continuous 
At 𝑥 = 2, 𝑔(𝑥) is discontinuous 

13 𝑓(𝑥) = 𝑥 + 2 
17 𝑘 = 8 
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